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Ogt=&H| 22,700
— L AMEE S0 M
50,000%50H 43l 1,000
— L AEZE 22D SIALIL R
3,500,000%43] 14,000
—CRNESAND AUAL GFBEELE
2,000,000*12] 2,000
—Z2ZNSE=EA2 H3IS AEs IS
N =2 1,650,000%23] 3,300
~2RUEH2ND HYUSCEE 242
400,000*13] 400
—UFELE LENSA JSSY(YUE L
Sllx=+g2) 2,000,000%* 14! 2,000
o=l 1,560
— S AEE HREFA S| 1,560,000 1,560
202 (4 Hl 4,000 4,000 0
01 = LH 4 b 4,000 4,000 0
OLstHH se2el s gdRF2 3,000,000 3,000
Ok Mzt ARus Y A& 1,000,000 1,000
301 LEEAF 1,280 1,280 0
09 #HALAHIXI &3 1,280 1,280 0
OLZUHEIN(ZUHLSE)2A 23l
8,000% 10 »2J4 & Xl x23] 320
O A2ZEE s 29 960
— L AREEAS 32 8,000%20F 23| 320
— S AREAREE 319 8,000%20H *43] 640
307 gl2tol & 261,000 201,000 60,000
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02 It M AHE L 261,000 201,000 60,000
OMHHSIAS LAY SOt
30,000,000*13] 30,000
OZ2X IS A 20,000,000+*13l 20,000
OLsagls 2 (20M2) 32,000,000%27H £~ 64,000
ORYEZ2X =W &K A
12,000, 00013l 12,000
OFII2E BYEIZA H& “A2SHE el
o= 20,000,000* 12| 20,000
OSHEAHLE 22X SH&H AL 5,000,000%13 5,000
OEHEHLE 22X JIsEs ISEEAMY
110,000, 000* 14} 110,000
401 Al HIZ 2018 255,000 3,300 251,700
01 A& HI 255,000 3,300 251,700
OZZ2XNSE=A2 st HE=ZA
180,000, 000* 14 180,000
OZZ2ASEesa ST A
50,000, 000* 14! 50,000
O2XNEEgsEX& =X il EX3A
25,000,000* 14! 25,000
T ANSI N B e 8 A 3K & ALY 50,000 0 50,000
2 40,000
Al 10,000
307 glz2+ol & 50,000 0 50,000
= 40,000
Al 10,000
02 It AMAHEE 50,000 0 50,000
OXY L AA 82 2435 NAML(DEL
E2 3Z2AY) 50,000,000 50,000
= 40,000
Al 10,000
ATHA 0l A XTANY KT & 4,368,232 3,451,192 917,040
= 1,722,702
J| 366,400
< 148,912
Al 2,130,218
AN X 22 = 3,197,066 3,079,182 117,884
= 1,716,702
< 144,412
Al 1,335,952
AHAENUHX E5 - 22 322,040 314,040 8,000
201 Yet2 | 9,200 200 9,000
01 At 22l 9,200 200 9,000
o2 d2HMR 2 Ry 7
100,000*2& 200
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SRl ATHMULK 22 =) CEEEED
_ RE]
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OARE 2HH20 et =22 (5 L HELED,
HUHXSSHAE AL AFXE R A) 9,000
9,000,000 14!
202 044 3,840 3,840 0
01 22Ul 3,840 3,840 0
OAMTHMAHIH X S2F=& d]
20,000%8L x2H x12& 3,840
401 AlEHIZL 2 0HY| 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OAMTHMUHHXI A SXAE(EHLZ EHSE 36
HA) 10,000,000 10,000
402 SI2FXHE0| & 299,000 300,000 A 1,000
02 BIZtXIEANYEX(0OIETHH) 299,000 300,000 A 1,000
OAMTHANUHX FHXE MY EXEE(ZIHA
FSONECDNR:D) 1,000,000*%1000}+ 100,000
Ollsala £ HE2XE MY X EX(20HE
HRKAAS) 3,000,000%33H £ 99,000
OasZ2o HEX X BEXR(2IH&E
KAL) 2,500,000%400H 2 100,000
FEHES HMHX=X 72,200 0 72,200
= 45,700
Al 26,500
401 AlEHIZL £ 0HY| 72,200 0 72,200
= 45,700
Al 26,500
01 Al&H| 72,200 0 72,200
O FHAHE UXNEXNME(HASES, 2XAl
H Ds8 LEDLA) 72,200,000 72,200
= 45,700
Al 26,500
SMTHMN H KX A DX A 274,307 285,691 N 11,384
= 105,232
Al 169,075
1T AIEHIZ 20| 274,307 285,691 N 11,384
= 105,232
Al 169,075
01 Al&H| 258,077 267,323 N9,246
OJdlszddH EY A& & XI(30kW)
66,023, 000%1JH 2 66,023
= 24,745
Al 41,278
OANEIAMZ2E 3t UM AL A X(38
kW) 83,634,000%1JH 2 83,634
= 31,277
Al 52,357
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10,298,000* 104 &~ 10,298
= 5,149
Al 5,149
OEI0IY BfZeEMAIAL AX(52.74kW, 400 A
) 88, 122,000% 14! 88,122
= 44,061
Al 44,061
OXNAXNSANY R2EONY HE
2,500,000%4JH 2~ 10,000
02 2teldl| 16,230 18,368 N2,138
OJ)ls&dHdH 2 61D EBfLZEEMAIE &EX
22l (126.74kW) 16,230,000 14! 16,230
MM UK SSEXNIAMY =& 2,528,519 2,479,451 49,068
= 1,565,770
= 144,412
Al 818,337
402 BI2H X201 M 2,528,519 2,479,451 49,068
= 1,565,770
== 144,412
Al 818,337
02 CIZEXIEAISEX (0| XM THL) 2,528,519 2,479,451 49,068
OAMTHMOUUHAX S=& XS AS (20300 A)
2,528,519,000% 14! 2,528,519
= 1,565,770
== 144,412
Al 818,337
Ol X & XA 1,171,166 372,010 799, 156
= 6,000
J| 366,400
== 4,500
Al 794,266
bA - A - IIAIE 22 85,350 66,850 18,500
== 4,500
Al 80,850
301 LBt A= 350 350 0
09 HAIAHI X & 2 350 350 0
ol XI2ad s Wl &A&X 24 350,000 350
308 XHXIGH SO0l & 15,000 15,000 0
& 4,500
Al 10,500
11 BI2SHUSEANRE AISH 15,000 15,000 0
ONBIE JIAHEHAEXI(EIOIHH2) B3 AFY (300
Jb3) 50,000%30020}F 3 15,000
& 4,500
Al 10,500
402 SI2vXHE0| & 70,000 50,000 20,000
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OMSISXIAIE PGAEHEHT B2 AL
1,000,000*109H £ 10,000
X B2 5,160 5,160 0
201 €24l 1,500 1,500 0
01 At 2t 2/l 1,500 1,500 0
ofudxzs 222 WA 1,500
—c= 1205, 0000H 600
— 2Bl 1205, 0000H 600
—s=9 60,000%5H 2~ 300
202 04l 2,160 2,160 0
01 S LHOIYI 2,160 2,160 0
ool XI&2e g =& ol 2,160,000 2,160
203 R =&l 1,500 1,500 0
03 A F=XH R =X H| 1,500 1,500 0
ORI 2&d At A YR =& 1,500,000 1,500
MeIE JtAANE WA 15,000 0 15,000
= 6,000
Al 9,000
308 XXM SOIA 15,000 0 15,000
= 6,000
Al 9,000
3 2SO0HetE & X A HI 15,000 0 15,000
OLPGEII MEJtT AMEIHE At
250,000%609t 7 15,000
= 6,000
Al 9,000
=AY 24 60,156 0 60, 156
201 Let24E] 156 0 156
01 At 22l 156 0 156
Ogzt =423H == 13,0002 1200 & 156
307 21201 A 30,000 0 30,000
02 QB AAFEX 30,000 0 30,000
Ox=A2dE SOHOIE = BEHXIA A2
= gl 30,000,000% 14 30,000
401 AIEHI L 2] 30,000 0 30,000
01 A& HI 30,000 0 30,000
QU HMAE SA (A2 &HX)
30,000, 000 30,000
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SE R IEPIE-EON- CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sty =8 stz IFsAG(0el=<) 1,005,500 0 1,005,500

| 366,400
Al 639,100
403 XXM S X201 1,005,500 0 1,005,500
J| 366,400
Al 639,100
02 SO 2SOlCHst A2 X 2| EF A I 1,005,500 0 1,005,500
OSXZEstn Z8 S22 s8NSsAY (D8
=) 472,600,000 472,600
| 170,800
Al 301,800
OJMokx=E8n FH S SEASAML (D
glee) 532,900, 000 532,900
| 195,600

Al 337,300




